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2nd Order State variable filter indepedent gain and Q with notch output.

Adjust Frequency 1K = 10kHz  10K = 1kHz 50K = 500Hz
Fo = 1/ (2 x Pi x Rset x 16 x exp -9)

Adjust Gain 10K = 0dB  
5K = 6dB     1K = 20dB
20K = -6dB  50K=-14dB

2nd Order State variable filter indepedent gain and Q with notch output.

Adjust Q

Adjust Frequency 1K = 10kHz  10K = 1kHz 50K = 500Hz

2nd Order State variable filter indepedent gain and Q with notch output.

Adjust Q
Q= Value / 10K
Butterworth Q = 0.707 i.e R=7K
Bessel Q = 0.5 i.e R=5K

Adjust Frequency 1K = 10kHz  10K = 1kHz 50K = 500Hz

Adjust Gain 10K = 0dB  
5K = 6dB     1K = 20dB
20K = -6dB  50K=-14dB

2nd Order State variable filter indepedent gain and Q with notch output.

Adjust Q

Adjust Frequency 1K = 10kHz  10K = 1kHz 50K = 500Hz

Adjust Q
Q= Value / 10K
Butterworth Q = 0.707 i.e R=7K
Bessel Q = 0.5 i.e R=5K

Baffle Step Compensation
Approx 3dB
Center 250Hz

Gain = Rin / Rf as a ratio
or
Gain = 20 x Log (Rf / Rin) in dB
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